nolamhactalovpe pe 3 apopodpe 2
Av [X, #X, = X, =3, = 3x,-2#3x,-2=|f(x)=f(x,)
Apan feivor 1-1
41 2
moAamAaGaCovpe pe 5 mpocbétovpe 4
Av X, #X, = 5%, #5X, = 5X,+4#5X,+4=f(x,)=f(X,)
Apan feivor 1-1
41 3
moAamhactilovpe pe —2 mpocOEtovpe 1
Av X, #X, = —2X, #-2X, = —2X+1=-2X,+1=f(x,)=f(X,)

Apan feivor 1-1

moAkamhactlovpe pe—3

Av [X; #X, = —3X, #—=3X,

Apan feivor 1-1

41 1)

41 4

aparpodue 7

= =X -7#3X,-1=

41 5)
TOAMOTAAGIALOVHE e 2 1 1 nolomhactalovpe pe 3 3 3
Av |X; #X, = 2X, #2X, => — #— —_—
2X,  2X, 2X,  2X,
Apan feivor 1-1
41 6)
molamhactdlovpie pe 4 apapovpe 9
Av |X; #X, = 4x, #4X, = 4Xx,—9#4X,-9=
=™ 2 e o |f (x,) = (X,)

Apan feivor 1-1

41 )
TOMOTAAGIALOV E pe 2
Av |X, #X,|=Inx; #InX, = 2Inx, #2Inx,
=5+2Inx, #5+2Inx, = [f (x,) #f(x,)

Apan feivor 1-1

npocOéTovpe 5

=




